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Chemistry—Stoichiometry Review

1.  Carbon disulfide, CS2, burns in oxygen to produce carbon dioxide and sulfur dioxide. 

CS2   +   3O2 ---------->   CO2   +   2SO2

a. Calculate the moles of SO2 produced from .834 moles of O2.
b. Calculate the grams of sulfur dioxide produced from 6.58 moles of carbon disulfide.

c. Calculate the liters of CO2 produced at STP when 45.00 grams of CS2 react with excess O2 gas.

2.  Dichlorine monoxide, Cl2O, is sometimes used as a powerful chlorinating agent in research.  It can be produced by passing chlorine gas over heated mercury (II) oxide, according to the following equation:

HgO   +   2Cl2 ----------->   HgCl2   +   Cl2O

What is the percent yield if 1.40 g Cl2 is used to produce 0.71 g Cl2O?

3.  Given the following equation:

Al   +   I2 ------>   AlI3 

a. Determine the limiting reagent if the starting values of the reactants were 1.20 moles aluminum and 2.40 moles iodine.

b. How many moles of the excess reagent are left over? 

c. How many grams of AlI3 are produced?

